_REASONING
MOST EXPECTED

PAPER

ALL SHIFTS | 02" DEC
351 D EXAM TR 3nenia

LIVE | 05:30 PM BY MANDEEP MAHENDRAS




*"Teh {TT o7 foam B ST 9t U SR ¥ oiedr 2|
q A1 a1 o & q ford a1 & <Xt & gal
T TG THTe q T STIHAT Hohel gedl & Hig 34
FHE ST oL o T Tee gt o'




® Statement :

®* Some A are B.

®* No B are C.

* All C are D.

® Conclusions :

® (I) Some A being D is a possibility.
* (II) All A being D is a possibility



* Find the inclination of the hour hand of a clock at 3:309

* TSI H 3:30 ISl UL HE Al T3 SCICEICERIE Y

A. 105
B. 100
C.75
D.102.5




Find the next term.

15, 25, 40, 130, ?

A.390
B.520
C.330
D.510




* Kalyani 1s mother-in-law of veena who 1s sister-in-law of Ashok. Dheeraj is
father of Sandeep who 1s only brother of Ashok. How Sandeep 1s related
Kalyani?
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A. Son

B. Son-in-law
C. Brother
D. Father




* Find number of squares 1n figure?

® JTTehTd | I ohl HEAT T ol S1T2

) I A.18
| B. 19
C.25
D.27




Choose the correct mirror image of the given figure (X) from amongst the

four alternatives ?




®*2A11,4D13, 12G17, ?

A.36I19
B.48J21
C.48J23
D.36J21




®* In each of the following question, four numbers are given, out of which three are alike in ‘.‘
some manner while the fourth one 1s different. Choose the odd one.
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A. 21:24
B. 14:16
C. 28:32
D. 54:62




* Choose the letter or group of letters which is different from others.
* I8 &R AT & 1 THE I S 31T § 197 7

A. CX
B. DW
C. JQ

D. LR




* QDXM : SFYN :: UIOZ : ?

A. PAQM
B. LPWA
C. QNLA
D. WKPA




* MZRV : REWA :: NCJZ : ?

a. SHOE
B. SHIP

C. SHOW
D. SHAM




® In a certain code language, PERSON 1s written as EEGHDC. How 1s CORNER
written 1n same code language?

* Teh 3T e W1 § PERSON &I EEGHDC for@ STt 81 36t &he A
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A. CDGCEG
B. CDGEGE
C. CDCGEG
D. CEDCEG




® In a certain code a number RAHUL 1s written as 60 and MOHAN 1s written as
51. How 1s ANURAG written 1n that code ?
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A.63
B. 64
C.62
D.65




® In a row of 45 students, Atul 1s 9th from the left and Sima 1s 11th from the
right. Golu 1s exactly between Atul and Stma. What 1s the rank of Golu from
the right end?
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A.10
B. 17
C.24
D.20




® Sonu walks 6 km 1n West, then he turns to his right and walks a distance of 8
km, then he turns to his left and walks a distance of 9 km, he takes a right turn

and then walks 12 km. In which direction and how far i1s he now from his
starting point?
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A 15 :‘ﬁ'{tlflQ
B. 35 I GE
C. 25 AT ufyw

D. 45 aferur gd




®* Which number will replace the question mark ?

* i H GAT TSIk g oh LA UL 3ATTAT?

12 112] 8
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A.9
B.7
C.4
D.3




®5,11, 24,51, 106, -

A. 180
B. 200
C.212
D.217



* ALOK, BABLOO, CHIRAG, DAZY, EKTA and FIROZ are seated 1n a circle
facing centre. ALOK 1s second right of DAZY who i1s third left of FIROZ.
CHIRAG is third right of EKTA and 1s not immediate neighbour of FIROZ.
Who 1s third to the left of EKTA?
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A.ALOk
B. CHIRAG
C.DAZY
D.EKTA




